
1 / 6

A

M6X12

X4

1

3

2

4

7

5 6

8

7

9

10

9

10

4

11

11
13

12

B X8

C X7

D X4

E X2

F X2

G X4

H X3

M6X40

M6X45

M6X8

M6

M6X15

J X2

K X2

M X2

L X2

M6X30

I X4 ST4X16

Схема сборки
Артикул:Cyber-4

Внимание: пожалуйста, не фиксируйте  винты до упора, пока все винты не будут установлены на
 

свои места.



2 / 6

2
X4A

1

X2D

D

1

2

3

A

1

2



3 / 6

4
X4G

3

4
G

4

X7C

8

C

G

G
G

C

C

C

C



4 / 6

5

6

X8B

7

7

B

X2E

6

5E

6
B

6

5

E

EF

F

F

F

X2F



5 / 6

7

X4I

I

I

8

X2M

M

M

8-1
8-2

910

9

10

I

I



6 / 6

9

X2D

H

L-1

11

X2J

J

11

12
11

13

X3H

X2

L-2
11

D

D
L

L

10

X2L

X2K
J

K

K


